FHSEE BIRELESER HH SREHAE

OE : %, HE FHEABEASEDTOBBIIHETLEL,
CADHEVEDEERE LERA.
Z _ 3,1 £ xE
1. (1) (YE‘.??_K,OS‘ TX5)¥2Lt 5 *% 6. (1) brbxd |y — Ux¥Ex3l¥
= - = 2 +2 = .
(55: > ) .7 (_ }iC\/IL = 20x31¢%
= 7 X2 +2 = “"_“"-'}% ------- T ________ 1 J'@l 3|4 = (Q,DX?.W)
(2) Yxleo2 =Tooo 14 Tuoy t[4 —Yooo+§ ~/vo0 4] Lj: o = § |
4 198 = oo =8 - 9933 2 S
949 = Joos - N e | O N
#l 2023 .
_________________________________________________________________________ (2) /5’70 ~ 5= 3%
(3) 4 —~(44:00+ 2 ) x3= 48 640 = ¢ a3 ¢ s Joo
(H*D*é‘i’)xzrzo/' Q=16 s
5 /o cm\
(RO
CER 6
BER A
) §4 w /o t+ 48x30 = fgo v 20f0 am ol
= 9980 10:00  10:30 e ’2 B 30 5
2880 3 o = 72 O R B 2% Rl bokm B Lo PR S0k
g Jal  Ames s seed s isk
: | Go-(200078) 54y
' 7|(2(:)ﬂ7§-'lmk} % h= 7o &n =
3 , 54555 % 0 3 3 12, -
l}A \ {:‘:L A@y{<1@[¢3’ Bo)ylc?_@icj £33 ) (6o-15) = 5}: =75 % sk (U km
W77 s ) - 0. =
N 2 D @0+@)-+s _ Zj 3. 43E 31%0 82 L AIE Om 73
4.Pky H2kg |D+@:</.2 /D,,'ga&:!‘.x‘:k% BE M EaE s 495 - @& m
D Qeoe/ VN[ e -9 10
; i [1§80 —@5) = |26 +@
3. B EAR) 0 oo @R [35° G = o5
767‘5 (357~ 9s®= #S8° O = 2l x| 2920
g [35%% 2 = 61T 115~28 73] = 995~ 775 = 220 ) "
00— (45°#67.5°)= 418 ' 9.
E b5 (1 22 33 ¥ IS 4617 &8 9F Mo |
0o ¥21 OI3 13 26 3% L2 45 78 fet 17
%Zé (2| |32
36 P | —
brbx 3Nt <57 T 2x2x 3\ x 30 5 1292
- ¢ — 233, 1%
= 3730 — 2 10. ,ci9 Mok kR Sx&x 122 $P0 o

= 3.1F

&

- T o~
< 34l em?
e |

Bl 7 Ao Te ko AR 1T TTxb = 462 o
Jovy 7B AFFR 8 {fo- 442= /8

5.

1B e AL 241 F 2O

lanr) o BrleCil o 2 5 nAtHe (]

1)

@ + [3]

/&

2 4.2 35 — s
D27 N Tk BAE 13 S5 7 6= €0
B2 le">\'7'l“ 3 Bm%?/p“a)/{%ﬁ (3
Upo —4706= /002
Bolk@Fn (058 = 9 2

1:7/8—:"2: ?my\

7




